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I. Identifying authority of our mwn (Must hold nwpm pnn nayyn — IRy, no n1)
a. 77ip 27 it is n", who explicitly rules (n:3 p’noa) that nwpn must be burned
i. And:n™’s standard of "8w” is permitted nRia according to N> 3
ii. And: certainly would apply it to navyn, which is intended for food (/p from nwpmn)
b. poms 71 it is 2tyYR "1, who explicitly holds that nayn carries a punishment of mpon
i. And:he would certainly apply it to nwpm
. Xr77712: supports NI’ 17 — mentioning a WY for yan nayyn, omitting nwpn (vv. 1-2)
i. Which must be: authored by X"7->n117yn is more obviously 1n than nwpn
d. Source: for WY for na1yn and nwpn: v. 1 —nxnnn Y3
i. Challenge: why is there no n13 (v. 3)?
ii. Answer: n¥nnn is needed to teach that even if leavened by outside agent, still liable
1.Challenge: if so, there should be no W either
2. Answer: inferred from the expansive “92”
a) Challenge: 93 should also extend to ynn (v. 3)
b) Answer: 93 (there) needed to include women in ynn 1oR
i. Reason: v. 3 refers to “eaters”, extends to other “eaters” — not other “foods”
1.Challenge: v. 6 — we extend 93 of eaters to other foods
2.Answer: there are no other “eaters” to include >extend to other foods (nmn ya 15n)
ii. Challenge: ynn is a n”», and woman and men are equally obligated to avoid 15 (v. 4)
iii. Answer: R"10 to infer exemption from ynn MOR from nx¥N NYIR (v. 5)
1.And:now that we have the ynn mor extended to women, they are n”nn ma»nn in nxn n%ox
¢)Question: 1321 of 8" who don’t use “93” to extend to n11yn — what is their source for mw1Y ynn NoIR?
i. Answer: they do interpret 93 »
ii. Question: why doesn’t 8" interpret Y3>women; 93 ¥ = ynn na1Yn
1. After all: he does interpret 53 " in v. 7 - ®owp
I, MoR5 97080 IR — completing the Myw of liability with permissible material
a. pny “r only applies to 11 ™MoR (v. 8)
b. »pyr also yvopn Ya (v. 7)
i. And: ynn —he mentioned »0pn Y2 to demonstrate need for nna
c. »7ax: should apply to all oK
i. Proof: %2 0y 9120 - if 7120 touches soup with nmAn spices in it, spot he touched is xno
1.Reason: because a 71 gets mphn for eating a nor
a) ~77o. if he eats a m°13 of the mix (DR 970N IN°N)
b) Correction: if he eats a full n’r3 of MmN within ©1a NYIR *15
2.And: nan disagree with X" because a n’r3 of nm> cannot be “normally” eaten within that time
a) Challenges: to rule about eating ©19 n%5R *132 MR N1 — from rulings about NMIN
i. Answer (to both): those are referring to ntn 112 NN - 1277
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